CIl#R)

KEFHICHRIRESRREBEERE (B)

SHEEEDREEZITOKEFRICRIREZRRBEERE (R) FRODELYT
¥ (BEEBRRBEAEIIODNTESE1ESR) .

REDNMEFESRF 1 HEIEN0ETSETICHITIBEICEET HHESHOD
HEZEDLIFDH (FBMIFEIARMEETREMS) F45A1DREICEDE,
KEFEHICRIRREEAREBEE (FRAF7 ARKREERENS) ZHEL. TR
ERDBREORSDAKAKBEICE T HKEFTEFAREICOVWTTRAMOEESE
EHEICRELET,

BHE. FLICHETHIELBEIERELBEZEDIETOLMOBNERAYT S
LELFET,

REEDODES HEEE
IFIL=5—-—900-3 (1H) 425V )LT7E42—+t (Bl4&]| 0.45 mg~|
IFon€E—1h)
AFIL=(E) A2 brFP42/ [a— (o—FULAFY) —o] 0.95 mg |
—rUL]I 7FEEZ—F (BB LYXIDLAFI)
(RS) —N?— (1, 2—=SAF)LTOEL) —N*'—ZF)L—6]0.025 mg~|
—AFILFA—1, 3, 5—bUTPr—2, 4-CF73> (Fl4
DARARY YY)

3— (2, 4—o/pAR7z=)L) —2—FFY—-—1—-—FFHZXE|0.034 mg/|
O [4. 5] THh—3—Iv—4—A)L=2, 2—CAF)ILITFS
— bk (&R EQYHYOT V)
2—tert—JFIL—5—(4—ter t—TFILRUZILFA) | 0.01 mg/|
—4—4/0O0EYESY—8 (2H) —*v (AlEEYERY)
S—a—IrFTPHALRZALRUDIL=0, O—PAFII=/RRXK[0.0077 mg.”|
OCFA4A7—bk (Bl&7x> b — bk (PAP))
N— (2, 3—>/B00—-—4—EFBFXF>T7z=)L) —1—4AF)L| 0.45 mg |
voaAxHYUALREFHIR (BT oAFH )
(RS) —5—%n0B@—-N-— (1, 3—YEfFBE—1, 1, 3—F+| 0.01 mg1I
JAFILAYRIIYI TS —4—4)L) —1, B3=—DAFILESY
—IL—4—HLKRFEHIFK (BT AREIL)
2—/080—-N— (4’ —4O0p0EZ72z=)lL—2—4)L) ZaF>| 0.11 mg/|
7R (ME&ERRAYKR)




